	
	
	Destination
	
	

	Source
	Business
	Education
	Parsons Hall
	Holmstedt Hall
	Supply

	BakerHall
	10
	9
	5
	2
	35

	Tirey Hall
	12
	11
	1
	6
	10

	Arena 
	15
	14
	7
	6
	20

	Demand
	12
	20
	10
	10
	


1a.
If you were going to write this as a linear programming model, how many decision variables would there be, and how many constraints would there be?

1b.
How many projectors are moved from Baker to Business?

1c.           How many projectors are moved from Tirey to Parsons?

1d.           How many projectors are moved from the Arena to Education?

1e.            Which site(s) has (have) projectors left?

